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Which of the following does not belong to the Hardy Weinberg principle?

a. Frequency remained fixed through b. Used algebraic equations
generations
c. Allele frequency varies from species d. Gene pool remains a constant
The notation p and q of the Hardy Weinberg equation represent............... of a diploid
organism.
a. Frequency of allele p b. Frequency of only allele A
c. Frequency of the only allele a d. Frequency of allele A and a
Which is the correct statement regarding Founder effect?
a. Named after the scientist John b. No large change in frequency
Founder

c. The old population become founders  d. Formation of new species

72 generations of Drosophila were kept in darkness by a scientist. Despite that, the first
flies possessed eyes that were normal. This disapproves the theory of..................

a. Acquired characters b. Synthetic theory

c. Natural selection d. Use and disuse

Which of the following is true for genetic bottlenecks?

a. They occur when there are major b. The result is usually increased genetic
environmental changes that alter diversity in a population following a
natural selection so that most genetic bottleneck
members of a species die before
reproducing

c. They reduce the fertility of the d. Itis due to mutation rather than natural
survivors selection

The fact that South and Central American Indians are nearly 100% type O for the ABO
blood system is best explained as being the result of:

a. Genetic drift b. Natural selection

¢. The founder principle d. Migration

Which of the following factors lead to the development of a new species from an
existing one?

a. Change in ecosystem : b. Genetic drift

¢. Natural selection d. Geographical isolation
Which of the following species is considered to be the root of the Hominid stalk?
a. Auslralopithecus anamensis b. Homo habilis

c. Ardipithecus ramidus d. Hylobates nuellert
Which of the following Ape is found in India?

a. Hoolock hoolock b. Pongo pygmacus

c. Gorilla gorilla d. Pan troglodytes
Australopithecus afarensis was discovered by....................

a. Raymond Dart b. Don Johanson

¢. Charles Boise d. Lucy Mohawk
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